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w1 T H 243 266 279 545|F 4 WHAT5 T H 525 587 602 1,189|% BT 7 T H 1,254 1,620 1,461 3,081 |l A M3 H 214 275 260 535
B W 2T B 384 409 405 814|T » WEMT6 T H 379 403 425 828|351 BT 8 T H 514 632 615|  1,247|/h ZF  4,505| 5,313| 5,358| 10,671
B w3 T A 294 351 343 694 s 9,499| 10,683 10,659 21,342(% BT 9 T H 1, 000 1,201 1,094 2,295| f=E1TH 96 107 106 213
FE4ET1T B 150 154 139 293 |k IE 603 661 693 1,354RSHT1 T H 126 116 112 228| _fRE2T H 320 373 379 752
P45 ET2 T B 91 77 83 160|% EHT 1 T H 312 405 388 793K JA M7 2 T H 394 436 436 872| _RE3T H 272 311 333 644
P4 ET3 T B 128 150 175 325|% W72 T H 602 698 655 1,353 5 8,778| 10,605| 9,685 20,290 " f%R4T H 126 126 142 268
£ L HT 278 268 284 552 |9 BT 3 T H 1,463 1,497 1,438| 2,935|W 0 ET1 T H 803 905 877  1,782| {RE5T H 92 116 120 236
N HT 422 434 448 882|% F T4 T H 766 804 756 1,560 (3 BT 2 T H 294 382 336 TI8[R H 1T H 76 80 79 159
fip L) 209 211 226 437k M1 T H 790 921 874 1,795 D BT 3T A 230 263 267 530|3R 2 T A 124 145 144 289
1= T 134 122 136 2658| K P 2 T H 331 409 403 BI2[{T D AT 4 T H 746 748 716  1,464|R 3 T H 123 128 107 235
* F W 173 211 212 423k 9 3 T H 704 849 870 1,719({r 0 BT 5T A 722 735 723 1,458 | & A W] 177 160 200 360
= fF HT 450 471 513 984 |t i 430 407 480 887 T 6 T H 1,237 1,342 1,316 2,658(f & 1 T H 60 51 52 103
K o WE OHT 506 551 562 1, 113 |4 52 422 502 538 1,040 (0 BT 7 T H 1,099 1,076 1,136  2,212|% &2 T H 71 75 77 152
W/ b HT 317 315 329 644| A% F1 T H 270 325 326 651 ({7 D AT 8 T H 784 862 738  1,600(f & (L 37 62 76 138
KB HET 520 567 552 L19(K % F2 7T H 242 334 341 675 AT 9 T H 941 882 965| 1,847 |/h aH 1,574 1,734 1,815 3,549
HinfnE1T B 212 215 239 4544 ¢ 1 T H 515 735 702 1,437 {0 BT10T A 874 796 752 1,548| = [ 1 T H 386 278 310 588
HmEfnHE2T H 277 305 318 6234 F 2 T H 116 157 141 298 Ea 7,730 7,991 7,826 15,817|% [ 2 T H 87 99 91 190
HmEfiHE3T H 303 371 379 75014 FF 3 T H 327 451 407 858 & 1 T H 186 205 217 422|'% [ 3 T A 243 180 174 354
Ft 5,091 5,448 5,622 11,0704 FF 4 T H 579 764 720 1,484 |#E 1G5 2 T H 988| 1,308 1,234 2,542/ K1 T H 88 119 94 213
B AKRTL T H 235 273 283 5564 3 5 T H 488 647 656 1,303|#E #& 3 T H 346 438 439 8T7|/h& RK2T H 49 57 57 114
By AmT2 T H 362 408 407 815 s 8,960| 10,566| 10,388 20,954|4 H 1 T H 1,348 1,503 1,508|  3,011|/h& K3 T H 176 218 217 435
B KET3 T H 208 276 262 538 MfE 1 T H 485 449 531 9804 4 2 T H 997 1,097 1,168 2,265|/N& A4 T H 236 185 243 428
El1TH 671 671 694 1,365\ & M2 T H 813 782 837 1,619(4 # 3 T H 894 1, 000 979 1,979/~ & K5 T H 76 80 94 174
Ei2TH 722 878 863 L7TALIR &5 M3 T H 1,076 1,096 1, 087 2,183(4 H 4 T H 0 0 0 O R 1T H 276 188 255 443
EW3TH 390 510 520 1,030|: & M4 T H 706 674 666 1,340(4 # 5 T H 182 55 160 215/ R 2T H 254 296 285 581
Ei4TH 796 852 963 1,816\ & M5 T H 973 947 962 1,909 G 4,941 5, 606 5,705 11,311 R 3 T H 242 188 236 424
EW5TH 525 535 544 LOT9|IsR & M6 T H 390 440 405 845 [ /)N | 52,718 58,710 57,824 116,534/ G 2,113 1,888 2, 056 3, 944
E e T H 257 216 303 5194 » M1 T H 417 455 454 9094 1 T H 353 425 391 816( A 1 T H 246 187 265 452
EW7TH 483 525 465 90| » 2 T H 777 696 817 1,513 2 T H 413 463 480 943|pk A 2 T H 391 275 298 573
E 8T H 271 304 303 607 |ffi [E BT 1 T H 331 410 388 798|/m 3 T H 435 545 529 1,074[p A 3 T H 106 125 126 251
EW9TH 3 4 3 7|6 [ BT 2 T H 713 812 817 1,629(Fn HHET 1T H 217 262 253 515 A 4 T H 62 58 57 115
KHET1TH 312 357 350 707 |fifi fd BT 3 T H 570 599 547 1,146 (Ffn HET2 T H 283 331 348 679(p A5 T H 72 70 75 145
RKHEWT2T H 349 332 311 643 |l [E BT 4 T H 468 451 428 879(#E # 1 T H 152 199 194 393|pk A6 T A 36 45 47 92
RKHEBT3T H 314 408 378 786 =i 7,719 7,811 7,939 15,750 (HE #F 2 T H 164 193 216 409|pk A7 T A 69 82 79 161
K HEWT4T H 305 379 373 75218 BT 1 T H 1,173 1,418 1,315 2,733|# 48 3 T H 171 218 208 426|p% A 8 T A 99 121 96 217
K HEHBTS T H 305 343 363 7068 BT 2 T H 759 957 810  1,767|HE #F 4 T H 228 264 259 523 [/ 1,081 963 1,043| 2,006
T WERT 1T H 660 751 757 1,508 87 #] 3 T H 1,551 1, 740 1,531 3,271\H # 5 T H 500 618 648 1,266 [H & g & & 9,273 9,898 10,272 20,170
T WHET2 T H 549 632 620| 1,252|% BT 4 T H 712 823 789 1,612|HE ¥ 6 T H 513 661 591 1,252|& 2 61,991 68,608| 68,096 136,704
T WERT3 T H 411 509 438 947(%r mT 5 T H 1, 196 1,534 1, 396 2,930 |4l AR BT 1T H 375 436 437 873
T WERTA T H 467 530 432 962(%¥r BT 6 T H 99 128 126 264 |t ART2 T H 487 423 544 967




